Algebra 2 2.3
Find rate of change
Determine slope of a line
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Slope The slope of a line is the ratio of the
change in the y-coordinates to the corresponding
change in the x-coordinates. The slope of a line
is the same as its rate of change.

Suppose a line passes through points at (x;, v,)




@ REGULARITY Find the rate of change for each set of data.
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Find the slope of the line that passes through each pair of points.
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m (slope)

Determine the rate of change for each equation.
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26. 20x + 85y = 120 27. 3x -2y =15



Find the value of r so that the line that passes
through each-pa points has the given slope.
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1. Write the equation
from m and (x,y)
2. Answer the question
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